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SN HB G (BH) - MRAY - BES e Hlm= 2
= 404,403 406,942 A2,539
H1SAY (LB SHE /LB A) 311,985 310,044 1,941
sd1s 2l 89,785 87,844 1,941
A2l 8,920 8,760 160
201 LEt23d| 4,920 3,760 1,160
02 =234l 4,920 3,760 1,160
(@)= =g =4:] 1,000& * 8AIZF » 1202 = 20H 1,920
(@Fal=—s= EIR=INL:] 1,500,000 * 14 1,500
OARI1J1 & ZHlIs Xl 150,000& * 105 1,500
401 A &HIL 2048 4,000 0 4,000
01 Al&H| 4,000 0 4,000
O=0dgy ¥z &XI 4,000,000& = 14l 4,000
i o . 4,175 2,759 1,416
101 el HH| 2,100 1,750 350
04 JIZtMZ22XRsSE+ 2,100 1,750 350
OdtAHgS 12 35,000& * 19 * 60 2,100
206 M=l 2,075 1,009 1,066
01 M=H| 2,075 1,009 1,066
OodtHE AR FH 2,075
—FgR 1,600& * 200 £ 320
-3 =) 1,450& * 300 £ 435
—ZHAHR| 2,200& = 600 4 1,320
2ots SAlZel 5,900 5,960 A60
201 Let23d| 5,900 5,960 A60
02 =234l 5,900 5,960 AB0
O Bots #2I8l 50,0008 * 2955 * 40/100 5,900
SEZRS ALY 7,520 7,095 425
101 eldd| 6,300 5,425 875
04 JIZtHIZ22HSE* 6,300 5,425 875
OE=2H & M2
35,0003 * 3% » 10& * 33 3,150
OZESRSME(BZEL, X&) A2
35,000& * 598 * 5& * 23| 1,750
OZN=8H|, #eX aF2el
35,0002 * 2% = 20 1,400
201 et 600 700 A100
01 AFR 22l 600 700 A 100
OJIZ2J1A Y &HHl gxz 50,000& * 103l 500
O2Zxds FHl Fi= 50,000& =+ 23] 100

_1_




2AM: 5818
M S ISAM (LSS S#HE/A0HHEH)
©°e: sd1s 22 (&9 ®M
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES AFoH bﬂ/‘\_FO” 2
206 =] 620 670 A50
01 M=zl 620 670 A50
OJt2stE ¥ stetae| 300
—g=o 2HM <A 2 10,000& * 10& 100
—gH ¥ Hlg F¢ 5,000& * 5& * 43| 100
— &3 5,000& * 5& * 43| 100
OJZEH Fphae| Al 320
—8as YA <A 2 10,000& * 105 100
—gldl ¥ HlZE 7  5,000& * 10 * 23] 100
—Z20F 20,258 F¢
20,0008 * 33 * 2= 120
FOIXXI D BH 4 5} 63,270 63,270 0
301 LBt8 A=z 63,270 63,270 0
05 &-2-aEas2a42 60,210 60,210 0
Os&=+Y 55,760
-Jlaa 200,000& * 13 = 179 * 128 40,800
—&02 200,000& * 23| = 174 = 1& 6,800
-39 &M
20,000& * 17 = 23 x 12& 8,160
Oora=Y 50,000& = 13 = 89Y * 1& 4,450
10 AL HIBAZ 3,060 3,060 0
OXNGLHEZ S 32 AKX =4
5,000& * 5198 = 12& 3,060
AR FOHAAY 222,200 222,200 0
ARE FOHEHIASA 222,200 222,200 0
401 AIEHBIZ 20| 222,200 222,200 0
01 Al&H| 220,000 220,000 0
OARE FOIHEH AIY 220,000,000 = 14! 220,000
03 A& =2 0HHI 2,200 2,200 0
OARE U ALY AIE201H]
220,000,000& = 1/100 2,200
HHS2AAH| (EF1S)(IIEH/IIEH 92,418 96,898 A4,480
2294 37,492 37,192 300
22| 37,492 37,192 300
101 Q14| 25,772 25,772 0
01 B4 25,772 25,772 0
OAZ2A2R2E
7,4573 = 36AI2F » 8" * 12& 25,772
203 YRF&| 9,920 9,620 300
01 D229 RF=EY| 6,600 6,600 0




SN BHIS
HE: HYSAAH(FHIS)(JIEH/IIE)
chel: Q2 Hy| (el &
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 gggf; HRs2
os& 6,600
—J|2A2FPRFLH 6,600,000& = 19H 6,600
02 BRIIMARETY] 320 320 0
Osd1s 40,000 » 89H 320
04 BEASIEHFFEHI 3,000 2,700 300
OREIS 3,000
—RA2IHRFLH| 250,000& = 12& 3,000
204 HR=HAH| 1,800 1,800 0
01 HHMIADLHAY] 1,800 1,800 0
ORFISE IMZYL2EY)
150,000& = 1 * 128 1,800
Jl2&Hl 54,926 59,706 24,780
Jl=2& | 54,926 59,706 24,780
201 LetHH| 28,126 30,406 22,280
01 AtER22/Hl 20,466 20,446 20
OSAEX 2Ll 13,0003 * 8&tA * 12& 1,248
O=20AlHl 5,008 * 34 * 8% * 128 1,440
Oggtex3g 100,000& = 123 1,200
O4LmnBE EN-HI 50,000& * 12& 600
Ogx4g 12,070
—=Z 30,000& * 19 * 253 7,590
—ox 40,0008 * 188 * 1122 4,480
OARRD 4| 4,360
—= A =2l 500,000& = 1CH 500
— el =cl 100,000& = 2CH = 50/100 100
—SAMI EH 200,000& = 52l = 1CH 1,000
—ZglY EH(EYM) 200,000& * 53 = 2CH 2,000
—pc42] 100,00020 * 8CH * 20/100 160
—JIE} EHl==2] 50,000& = 12& 600
OJIEt AR ESHI 5,000& = 8% » 128 480
Ol aHE 2 9,328,000&  -10/100 AQ32
02 =234l 7,660 9,960
osEe3 50,0002 * 122 1,800
oXMIIe3 400,000 * 128 4,800
O4dt=ER3 50,000& * 12& 600
OZNERES 50,000& * 23| 100
(OFSPRRIFSES I Rty 80,000& * 23| 160
O&stx 4 100,000& = 23] 200
202 O4Hl 26,800 26,800
01 =LhoiH| 2,800 2,800
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